108 =8 MFF AN (A2 2571=)

kel ME, E, %, $/kg

~o 251 20074 102 (&< 20074 102 (5H) SUE(EE) SHUE(FA) T=Z=CIHEA)
= =g = = =2 = =2 = 20064 20074
= 1,182,051 231,258 11,200,642 2,218,093 21.2 18.8 2.1 1.2 5.00 5.05
1 e 230,395 37,032 2,326,690 383,432 13.3 5.0 -1.3 -8.0 5.65 6.07
2 o= 148,330 29,572 1,461,018 295,304 55 18.1 -13.1 -3.8 5.48 4 .95
3 H| E 102,772 15,240} 861,734 122,226 82.9 83.4 23.4 17.3 6.70 7.05
4 23 76,659 10,666 748,444 117,651 5.6 -4 .4 6.9 6.1 6.31 6.36
5 ol = Al o} 64,078 8,319 630,800 91,066 27.5 13.4 4.3 3.4 6.87 6.93
6 = 57,769 8,771 544 250 80,784 5.8 6.3 -4.9 -1.4 6.98 6.74
7 ofZtoo|2| E g 39,082 6,693 307,600 54,053 57.3 67.3 10.1 12.2 5.80 5.69
8 AbC|ol2td]| o} 19,737 3,552 229,681 39,386 33.1 23.9 5.0 5.7 5.87 5.83
9 = 23,077 4. 541 228,253 53,571 22 .1 10.8 27.6 21.5 4.06 4.26
10 E{7| 25,171 4,354 225,119 41,804 27.7 121 17.2 4.7 4.38 5.39
11 2| o 22,218 5,0508 204,552 43,184 -16.5 7.7 -18.4 -3.9 5.58 4.74
12 ThE| 22} 16,331 2,534 164,751 24,982 -8.9 -9.9 -28.1 -32.8 6.16 6.59
13 BziA 20,583 4 579 158,279 36,027 89.9 86.5 55.2 30.3 3.69 4.39
14 e 15,392 1,766 155,241 18,995 37.9 24.7 43.2 42.0 8.10 8.17
15 o|EtZ|of 15,225 3,261 144,034 33,284 49.7 56.8 15.9 20.2 4.49 4.33
16 Z+5 o} 16,494 5,793 135,286 52,519 65.2 31.3 39.5 12.6 2.08 2.58
17 o= 14,092 4. 510] 133,037 36,258 15.6 36.9 14.0 17.4 3.78 3.67
18 Eff = 12,777 2,571 126,134 27,622 13.4 5.5 3.0 10.3 4.89 4 .57
19 Z{A|of odut 16,177 4213 123,115 37,430 36.4 -1.1 5.9 -2.9 3.02 3.29
20 A0 2l 13,034 3,342 110,195 27,810 34.3 17.9 22.3 7.0 3.47 3.96
21 HA|Z 13,000 3,175 109,327 28,097 32.9 17.2 3.3 -0.7 3.74 3.89
22 elc|ol(2lx) 10,775 3,864 101,516 41,571 27.8 9.7 -3.1 -8.6 2.30 2.44
23 Br22bH| Al 9,835 1,424 100,476 16,201 171 455 -14.7 -14.3 6.23 6.20
24 CH ot 9,942 2,181 98,952 22,558 —-10.1 -11.9 -18.3 -24.8 4.04 4.39
25 etk 10,191 1,852 98,547 20,007 23.9 -1.4 -9.1 -15.0 4 .61 4.93




s 251 20074 102 (Zg) 20074 102 (5A) SHUE(EH) SHE(FA) AT HEA)
=N =& =N S =N =& =N = 20064 20074
A 1,010,015 149,932 7,445,167 1,206,635 29.0 19.6 12.0 5.4 5.81 6.17
1 == 694,990 94,701 4,705,042 709,022 30.4 20.7 17.1 10.1 6.24 6.64
2 o| Etz| o} 44,186 657 436,479 6,259 26.2| -14.0 79| -23.6 49.37 69.74
3 = 37,757 5,752 356,097 51,423 29.0 32.0 1.6 5.0 7.16 6.92
4 ol Tl Alo} 28,179 8,637 227,489 77,722 46.6 35.6 6.9 6.0 2.90 2.93
5 H| E 33,323 8,318 209,041 62,537 45.1 38.5 35.3 29.7 3.20 3.34
6 olc|oh(Ql E) 27,219 8,693 207,485 65,961 6.8 -0.2| -13.6| -15.5 3.08 3.15
7 o|= 25,317 2,922 204,540 24,390 43.4 43.8 10.1 16.5 8.88 8.39
8 CHat 11,044 4,130| 134,121 58,514 -3.0| -15.0 0.8 -2.3 2.22 2.29
9 Ef = 7,456 1,615 95,032 23,707 -18.2| -226| -11.2 -8.9 4.11 4.01
10 7| A Et 10,609 4,616 87,514 39,692 39.2 30.4| -13.9| -16.3 2.15 2.20
11 ZA 9,010 120] 80,167 1,172 3.5 146 -15.8 2.3 83.14 68.38
12 =] 8,312 660| 66,775 5,919 43.8 16.1 7.4 2.3 10.75 11.28
13 Ad= 5,125 355 60,365 5,440 -25.8| -56.1] -10.8| -32.9 8.34 11.10
14 QAEZ o} 7,294 2,584 56,794 19,890 41.0 35.8 18.6 15.4 2.78 2.86
15 2= 6,029 132 48,652 1,591 -17.8| -23.3] -17.3| -23.1 28.42 30.57
16 2k2f o| x| o} 4,221 1,248 39,306 11,450 3.9 10.4 54| -10.1 2.93 3.43
17 B 7| 2,884 207 35,637 2,282 10.5| -15.1 5.1 2.6 15.25 15.62
18 === 3,532 323 32,463 2,308 -1.4 61.0 6.8 15.1 15.17 14.07
19 o| Qka} 7,524 722 27,494 2,357 180.5| 187.4 87.4 87.3 11.66 11.67
20 =z ® 2,363 299| 24,828 2,101 134.2 | 328.5 71.3 64.4 11.35 11.82
21 Ztetet 2,471 323 24,074 3,881 9.5 13.0 1.8 3.8 6.33 6.20
22 oAl = 2,179 84 20,529 1,039 14.4| -16.4 24.3| -10.8 14.18 19.76
23 AQA 1,639 19] 19,206 308 26.4 | -23.0 -1.0| -48.1 32.68 62.30
24 sF 2,016 172 16,234 1,476 26.9 36.3 16.9 19.1 11.20 11.00
25 A 2l 1,471 48 16,051 881 -14.4| -46.8] -26.9| -51.9 11.99 18.23




